BC-08

December — Examination 2022
B.Com. (Part II) Examination

Cost Accounting
Paper : BC-08

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 2x7=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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Define Costing.

IR &1 A9 sy |

What items will be included in Prime Cost ?
A A | fera-foha w=1 1 e foran s 2

Put up the formula of Re-order Level.
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Define Last in First Out Method.
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What is Labour Turn-over ?
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Define Semi-variable Overheads.
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(vii) How to calculate direct labour hour rate ? 5. Calculate raw material consumed from the

JIg o "Ue X 9 YRR I SR ? following :

Section-B 4x7=28 e § § el Wl Susd @) o T R)
Short An T ti
(Shor swer Type Questions) 1.  Opening stock 22,000
Note -— Answer any four questions. Each answer should not
2. Closing Stock 24

exceed 200 words. Each question carries 7 marks. OSIHE Stoc ;000
TUE—F 3. Material Purchased 1,32,000
(g ITAT q9) 4. Carriage Inward 5,000
- R AR F IO S e SWH 5. Carriage Outward 2,000
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. 6. What is Work-in-Progress ? How to calculate it in
7 3% H T

. : . the contract account ?
2. What is Emerson’s Efficiency Plan ? Explain.
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3. Discuss about Normal Wastage and Abnormal Fl S E 2
Wastage. 7. What do you mean by Operating Cost ? Explain
TE & Td M & % aR H SHHRT its objects.

4. Put up the format of Cost Sheet. qfeEe WrTd W A9 I THHAG § 7 SEh Sewdl
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8. What is Process Cost Accounting Method ? 10. Calculate the material variances from the
Explain the accounting method of it.

fsranr @ frufto fafs =0 & 2 soent or@meq fafy

following :
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9. Calculate the P/V Ratio and B.E.P. from the () Standard Quantity 90,000 Units
following : (i1)) Standard Price 50 per Unit
et & em-we g ue - o (iii) Actual Quantity 45 per Unit
T ®) . . .
(iv) Actual Price 1,00,000 Units
Sales 1,00,000
Variable Cost 70,000 11. Prepare stores ledger from the following :
Fixed Cost 15,000 (i) FIFO Method
Profit 15,000 (ii) LIFO Method
Section-C 2%14=28 = gt & (i) vem o gem FEEA (i) st
(Long Answer Type Questions) A gom fri faf & 9l SR T TR wife
Note .— Answer any two questions. You have to delimit
. Date Receipts Date Issues
your each answer maximum up to 500 words.
Each question carries 14 marks. 1 Opening Balance 100
JIS—H Tonnes @ 10 3 50 Tonnes
(& b 10 150 T @ 12 18 80 Ti
feor .- =l S U9l & S SIfST | o9 3T SR I AfereRaH onnes @ onnes
500 s A UREHT HIGT | Tk T3 14 37F HT ) 23 180 Tonnes @ 15 27 250 Tonnes
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12. What do you mean by Production Account ? Put

up the formula of production account.
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13. Discuss about Overtime Wages in detail.
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